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Figure 11-23. Speed-volume relationship on
six-lane freeways.
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150 . AASHTO—Geometric Design of Highways and Streets

FIRST PHASE
OPPOSING VEHICLE

PASSING APPEARS WHEN PASSING
VEHICLE VEHICLE REACHES POINT A.
Vo . Af-,/) B /
- AT & S
V- P
i 4 !’
d, 73d;
o SECOND PHASE
— 1 —— — % '—f&:w—h«w— e —
2
/5dp
d, d, dy dg

DESIGN SPEED -MPH

30 40 50 60 65 70 75 80
; 2500
© *GA
" &%
2 112000 s
zZ V8] ;
i v 6/
pa _XOXP
a %1500
W =
O «q
n = /
9 e 4
Z3 000 / 2
ul
L%l ] / da L’o/
Gj 500 7/L.-—-—-0/' I ——

_/’:ﬁ:::::iﬁz—-’/’t:‘ d'b
0 | 1 |
30 40 50 60 70

AVERAGE SPEED OF PASSING VEHICLE-MPH

Figure I11-2. Elements of and total passing sight distance —
two-lane highways.
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- -70

Speed Group (mph) 30-40 40-580 55%660 6é)2 A
Average Passing Speed (mph) 34.9 43. . .
Initial maneuver: 150
a = average acceleration {mph/sec)d 1345 183 lg? e
t1 = time (sec)@ . . : 370
d, = distance traveled (ft) 145 215 290

Gccupation of left lane: _

to =ptime (secld 9.3 10.0 8;2.7 1 0:13(1).3
d, = distance traveled (ft) 475 640 .
Clearance iength:

d4 = distance traveled (ft)a 100 180 250 300
Oppasing vehicle:

d4 = distance traveled (ft) 315 425 550 680
Total distance, 1 + dy + d + dg (ft) 1,035 1,460 1,915 2,380

8For consistent speed relation, observed values adjusted slightly.

Table 111-4. Elements of safe passing sight distance —
two-lane highways.

Assumed Speeds

Minimum Passing

Design Passed Passing . .

Speed  Vehicle  Vehicle Sight Distance (ft)
(mph) (mph) {(mph) Figure 111-2 Rounded
20 20 30 810 800
30 26 36 1,090 1,100
40 34 44 1,480 1,500
50 41 51 1,840 1,800
60 47 57 2,140 2,100
65 50 60 2,310 2,300
70 54 64 2,490 2,500

Table 111-56. Minimum passing sight distance for

design of two-lane highways.
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